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Mohit.. 21 hours ago

Thank-you madam for today's Amazing Class Session.. aa S
And

Answer for today's homework is-

ADCFBE -clockwise... With ABC facing inside and DEF facing Outside...

Read more

b GR REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

debasish chakraborty 23 hours ago

Homework :

Inside - ABC

Outside - DEF

THANK YOU MAM. AWESOME SESSION.

gy GF REPLY

+ View reply from Mahendras : Online Videos For Govi. Exams

Sonam Pundir 23 hours ago

Hw ans. Inside facing ~ABC
Outside facing ~DEF
Thank you ma'am for awesome session @ ’v'

oh GF REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

L

DM at 11:30 AM “

Rahul Bhakat 14 hours ago

BEADCEF (clockwise)
Inside- BAC
Outside- EDF

Thank you ma'am!

@y &P REPLY

+ View reply from Mahendras : Online Videos For Govi. Exams

Nabanita De 22 hours ago
H.W-Clockwise direction (ADCFBE).Inside-ABC,Outside-DEF.thank u ma'am.

@y &P REPLY

+ View reply from Mahendras : Online Videos For Govi. Exams

ruma rajwar 22 hours ago
Homework:
From corner ADCFBE(clockwise)

@y &P REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams
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Shubham jatwa 11 hours ago
ADCFBE INSIDE - ABC OUTSIDE DEF

gy &GP REPLY

at 11:30 AM/“

Nitika Gupta 23 hours ago
Homework

Ans centre facing CBA
Outside facing DFE

gy &GP REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

Aniket Gawande 23 hours ago

Hw ans -

Corner BCA

SIDE FED

STARTS FROM CORNER TO RIGHT .

Read more

gy GF REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams
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Six persons are sitting in a triangular table
such that three of them sits at the corners of
the table and three of them sits at the middle of
sides of the table. The one who sits at the
corner faces towards the center and the one
who sits at the middle of sides of the table
faces outside the center of the table.

Only one person sits between A and B. B sits
second to the left of C. E sits second to the right
of F who is not an immediate neighbor of A. D
faces outside the center of table.

B¢ A19d U RYAFR AT A A IR S8 fF3aad @
et A & Fa1 W3S § 31} 379 & et A7 Fr et &
ALY # 35 §| Fie W3S cafFa w1 7@ Fg FA 3 g AR
AT Y ITST3MT & i< A AT 8, 3WHT H{W gy & 6T 1 AR
2. A 3R B & T Fger v T AT B, CHF T T W
TYTT G ASTE 1 E, F F S & GHY TYUTT G 43T 8 ST A H
fread = A€ 81 D F1H@ F5 F AT AT AT

O
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Who among the following is third to the righml
D?
(@A (b)B (c)c  (d)E (e)F

Four of the following five are alike in a certain way
and hence form a group, which of the following
does not belong to the group?

(a)D-C

(b)C-F

(c)B-F

(d)F-B

(e)A-E

If A and B interchange their positions, then who
among the following sits second to the left of B?
(a)C

(b)D

(c)E

(d)F

(e)None of these
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Which of the following statement is true? -
(a)F faces towards the center of the table

(b)C sits immediate right of F

(c)A faces outside the center

(d)None is true

(e)E sits second to the left of D

Which of the following statement is true?
(a)F faces towards the center of the table
(b)C sits immediate right of F

(c)A faces outside the center

(d)None is true

(e)E sits second to the left of D
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(a) If only conclusion I follows.

(b) If only conclusion Il follows.

(¢) If either conclusion | or Il follows
(d) If neither conclusion I nor Il follows.
(e) If both conclusions | and I follow.

Statements:

Only a few states is country.
Some country is city.

All city is village
Conclusions:

.. All country can be city

Il. All states can be country

Statements:

Some Sania is Sindhu

No Sindhu is Player

All Player is India
Conclusions:

l. Some Sindhu can be Indir
Il. Some Sania is not player
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(a) If only conclusion I follows. Statements:

(b) If only conclusion Il follows. Only a few states is country.
(c) If either conclusion | or Il follows Some country is city.

(d) If neither conclusion I nor Il follows. All city is village

(e) If both conclusions | and I follow. Conclusions:

l. All country can be states
Il. Some village can be country

Statements:

Only flower is fruit

Some flower is chocolate
Some chocolate is drink
Conclusions:

|. Some fruit can be drink

ll. Some flower can be drink
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ETgnt persons K, L, M, N, O, P, Q and R are from two generations and four married coupfe %

and N are married couples K is father in law O who is sister in law of L. L and P are married
couples. P is daughter in law of R. M and L are siblings of same gender. N is mother of P.

3ms afdd K, L, M, N, O, P, Q3R RaY difgal & ¥ 3k ar Raifka a2 &1 a3k Nfafea s &
K, 8gT OF, it L# R¥ex 51 af §1 L3R P Rafea I3 &1 P,R#A ag 31 M3k Luaer Rer &

HTS-dgT &1 N, P Fr ATaT Bl

How is P related to M?
(a) Son-in-law (b) Son (c) Sister -in-law
(d) Daughter (e) None of these

If J is the only child of L then how is N related to J?
(a) Maternal Grand mother (b) Mother
(c) Aunt (d) Father (e) None of these

How is L related to K?

(a) Son (b) Son in law (c) Brother -
in-law

(d) Father (e) None of these
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(a) If only conclusion | follows. Statements: A<M>G >K >D, M<O« i
(b) If only conclusion Il follows. S, K<H
(c) If either conclusion | or |l follows. Conclusions: .G <SI.A>D

(d) If neither conclusion | nor Il follows.

(e) If both conclusions | and Il follow
Statements: B 2 E >L<O>R=U
Conclusions: |. B<L Il. U=L

Statements: X2 Q>F, A>F,R =
M2F
Conclusions: . R>AI.X>F
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Statements:D<G>K2R>T,G<E>W,R<Y
Conclusions: I W2DILY>T

(a) If only conclusion | follows.

(b) If only conclusion Il follows.

(c) If either conclusion | or Il follows.

(d) If neither conclusion | nor Il follows.

(e) If both conclusions | and Il follow Statements:B>K>G M<G D=W2G

Conclusions: . D>MILK <W
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Eight persons A, B, C, D, E, F, G and H are sitting
on a circular table facing the centre of the table
but not necessarily in the same order. Hand F
are facing each other. H and A are not
immediate neighbours of each other. C is not
immediate neighbour of H. Two persons sit
between A and G. B sits immediate left of G. Two
persons sit between B and E. One person sits
between A and D. D and G are not immediate
neighbours of each other.

TS ITFT A, B, C, D, E, F, G 31X H Teh TdTHR AT I AT
& &g T I HT FIH 48 ¢ ATt ST Ao1 1o 4T HA A
8 H AR FUH qEl AT AR ITHA I HIARATH G F
rhedd TR AE & ¢, H FT faheam T2 7ET 8. A 31X
GFATNAFTISE. B, GHF AF T daTR. BIREF
M afFa st AsiRpFNaresa@aders. o3k
G UF qEX & [Asheas Tsiift 181 8.
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How many persons sit between A and D whed B
counted anticlockwise direction fromD ?

(a) Three

(b) Four

(c) Five

(d)Two

(e) None of these

Who among the following person sits immediate
leftof C?

(a) G

(b) D

(c)E

(d) F

(e) None of these

Who among the following person is facing G ?
(a) H
(b) F
(c) A
(d) E

(e) None of these
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Four of the following five are alike in a certain way
and hence form a group find the one which does not
belong to that group ?

(a) A,D

(b) H, G

(c) G.F

(d) C, A

(e) AE

Who among the following persons sit second to the
right of H?

(a) G

(b) C

(c)B

(d) D

(e) None of these
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%en persons are living in seven different
floors of a seven storey building. All of them
going for shopping in different days of the
same week starting from Monday to Sunday.
T lives on an even humbered floor. V stays on
the second floor and goes for shopping on
Wednesday. The one who stays on the first
floor goes for shopping on Saturday. Q goes
for shopping immediate before T. Q does not
go for shopping on any of the days after V. The
one who stays on the seventh floor does not
go for shopping on any of the days on and
before Friday. The one who stays on the third
floor goes for shopping immediately after R.
The one who stays on the sixth floor does not
go for shopping immediate before or after V. U
does not go for shopping on Sunday and does
not stay on the third floor. S does not go for
shopping on any one of the days before P.

T AT d T TTd ATorell SART hY 1T SN P
e Aforat H W ¥ g SFaR ¥ WaR a=
U &1 odig & [Affie fear 7 @dief & fev I
8| T U §H &I aTell ATTe WX @l ol V G@d
FHISTSr 9T TE T & 31 Tean 1 @Y & fow srar
¥| 98 ATFT ST Tgel) Fiorer UX (@ dT & 98 AT
Hr @i & AT ATar gl Q, T 9 & gge @il
& faTarargl Q, V& 91 R s Ra @i &
R AL ST 8| S AT AT W IgdTg dg
AN HI 3T 30X Tgo R ot Rad @i &
T 781 ST ¥ | 98 afFa St N #AfSrer W) Ear
£, R & A& a1 @Y & v Srarg | s s
AT WIEATE IV & & Tga IT a1 A @l
& foT A8t Arar 1 U IRTR & @ e & e a8
ST ¢ 3 A AT WAL Ww@ATE ] . S, P A e
o) T foeT @iel & v agi srar g
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Seven persons are living in seven differentd %
floors of a seven storey building. All of them
going for shopping in different days of the
same week starting from Monday to Sunday.
T lives on an even humbered floor. V stays on
the second floor and goes for shopping on
Wednesday. The one who stays on the first
floor goes for shopping on Saturday. Q goes
for shopping immediate before T. Q does not
go for shopping on any of the days after V. The
one who stays on the seventh floor does not
go for shopping on any of the days on and
before Friday. The one who stays on the third
floor goes for shopping immediately after R.
The one who stays on the sixth floor does not
go for shopping immediate before or after V.U
does not go for shopping on Sunday and does
not stay on the third floor. S does not go for
shopping on any one of the days before P.
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 Floor | Persons | Days Who among the following lives on 3rd floor?
(o) v
6 |Q  [Monday (b) R

(c) P

Tuesday (e)xe!
Friday (e) None of these
Wednesday : .
Saturdav Who among the following persons goes for shopping
- on Sunday?
(a) R
(b) The one who lives on 5th floor
(c)Q

(d) The one who lives on 7th floor
(e) None of these

Which of the following statement is true about Q?
(a) Only two persons lives between V and Q

(b) R lives just below Q

(c) V goes immediate after Q

(d) Q goes for shopping on Friday

(e) None is true
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 Floor | Persons | Days
U goes for shopping on which day of the
6 |Q  |Monday week?
R | Thursday _ (@) Monday
Tuesday gb; I-:rhgrSdOy
. c) Friday
Fflda‘ (d) Saturday
_ Wednesday
(e) None of these
Saturday
How many persons goes for shopping between S
and V?
(a) Two
(b) One
(c)More than Three
(d) Three

(e) None
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ﬂyput- minister 93 external 57 commissioner 74 government 68
Step-I: clmmrssrinvr minister external 57 74 government 68 36
Step-Il: clmmrssrinvr vxtvrnzl minister 57 government 68 36 9
Step-Illl: clmmrssrinvr vxtvrnzl glvvrnmvnt minister 57 36 9 4
Step-1V: cimmrssrinvr vxtvrnzl glvwrnmvnt mrnrstvr 36 9 4 4

Input- republic 16 parliament 48 privilege 29 project 19
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Input- republic 16 parliament 48 privilege 29 project 19 How many steps are required to rearrang®

the given input?
Step-I: pzrirzmvnt republic 16 privilege 29 project 1916 (a)ui
. . (b)VII
Step-Il: pzrlrzmvnt prrvrivgv republic 16 project 1916 49 (c)v
Step-Ill: pzrrzmvnt prrvrivgv prijvet republic 16 16 49 64 (c)iv

(e)None of these

Step-IV: pzrirzmvnt prrvrivgv prijvet rvpfbirc 16 49 64 25

What will be the second step of the given input?

(a)step II- pzrirzmvnt prrvrivgv republic 16 project 49 19 16
(b)Step II- pzrirzmvnt prrvrivgv republic project 16 19 16 49
(c)step lI- pzrirzmvnt prrvrivgv republic 16 project 19 16 49

(d)Step lI- pzrirzmvnt prrvrivgv 16 republic project 19 16 49
(e)None of these
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Input- republic 16 parliament 48 privilege 29 project 19 Which of the following word/number Wil

be at second position from right end in il
Step-I: pzrirzmvnt republic 16 privilege 29 project 1916 step?
. . (a) 64
Step-Il: pzrlrzmvnt prrvrivgv republic 16 project 1916 49 (b) 25
Step-Ill: pzrrzmvnt prrvrivgv prijvet republic 16 16 49 64 gg)) f69
Step-IV: pzrirzmvnt prrvrivgv prijvet rvpfbirc 16 49 64 25 (e)None of these

Which step gives following output?
“pzrirzmvnt prrvrivgv republic 16
project1916 49"

(a) Step-|

(b) Step-li

(c) Step-lil

(d) Step-1Vv

(e)None of these
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P@Q - P is neither greater than nor equal to Q
P%Q — P is neither smaller than nor equal to Q
P#Q - Pis not greater than Q

P$Q - Pis not smaller than Q

P*Q- P is neither smaller than nor greater than Q

Statements: Z@VY, Y%X, X*W, WSV
Conclusions: 1. Y%V Il. Z%V

(a) Only conclusion I follows
(b) Only conclusion Il follows
(c) Either conclusion | or Il fo"~=~
(d) Neither conclusion I nor ||
(e) Both conclusion 1 and Il f(
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P@Q - P is neither greater than nor equal to Q
P%Q — P is neither smaller than nor equal to Q
P#Q - Pis not greater than Q

P$Q - Pis not smaller than Q

P*Q- P is neither smaller than nor greater than Q

Statements: A%D, B@E, DH#C,E*C
Conclusions: . C$A . E@A

(a) only conclusion I follows
(b) Only conclusion i follows
(c) Either conclusion | or Il followe
(d) Neither conclusion I nor Ii foll|
(e) Both conclusion 1 and Il follov |
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P@Q - P is neither greater than nor equal to Q
P%Q — P is neither smaller than nor equal to Q
P#Q - Pis not greater than Q

P$Q - Pis not smaller than Q

P*Q- P is neither smaller than nor greater than Q

Statements: G*K, KM, MEN, N@O
Conclusions: |. K%N Il. M@O

(a) Only conclusion | follows

(b) Only conclusion Il follows

(c) Either conclusion | or Il follpwe
(d) Neither conclusion I nor Il
(e) Both conclusion | and Il fol
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P@Q - P is neither greater than nor equal to Q
P%Q — P is neither smaller than nor equal to Q
P#Q - Pis not greater than Q

P$Q - Pis not smaller than Q

P*Q- P is neither smaller than nor greater than Q

Statements: S$T, W$U, T*W, U@V
Conclusions: |. SSU Il. V@T

(a) Only conclusion | follows

(b) Only conclusion Il follows

(c) Either conclusion I or Il follows
(d) Neither conclusion | nor Il follow
(e) Both conclusion | and Il follows
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P@Q — P is neither greater than nor equal to Q
P%Q — P is neither smaller than nor equal to Q
P#Q - P is not greater than Q

P$Q - Pis not smaller than Q

P*Q- P is neither smaller than nor greater than Q

Statements: A%B, C$E, D@B, D*C
Conclusions: |. A%C Il. E@B

(a) Only conclusion | follows

(b) Only conclusion Il follows

(c) Either conclusion I or Il follows
(d) Neither conclusion | nor Il follow
(e) Both conclusion | and Il follows
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